12BE Y ZPs « LT+ —ASEE8/BIM
BfER : 20225128208 ()
BRERTIE L WA
FTHHIR - PARX2
HDCPHIRR: %360 360 % IY=r360 & IYZPr360
BRIBRE - Ry F>/N\VT >

UK=L :OUT:1 2 3 57 8 IN:10 11 12 14 15 18 (BRFRES)
g fi1 HIRES Rl | OUT IN GROSS | HDCP | NET AE
/8 B BGHEBHEED) % & 2] 36 39 75 4.8 70.2 | B151254,0008+15008
EBES #E &F B 45 47 92 216 | 70.4 £51253,000H
Clivi INEF BT B 42 36 78 7.2 70.8 251253,000M
41 B & 5 40 37 77 6 71 251252,000H
51t RA R B 38 44 82 10.8 | 71.2 Z151252,000M
o1 ERE Bk 8 39 36 75 3.6 71.4
T SyF—7T8 FI —K B 44 42 86 14.4 | 71.6 Z51251,500MH
8fi1 BGE (&%) PR #KF £°3 40 46 86 144 | 716 ZI51251,500M
ofi FN E B 39 44 83 108 | 72.2
10fi1 P Bz B 45 43 88 156 | 72.4 ZI51251,500M
111t FE W™ 5 41 44 85 12 73
1211 Bt WME 2 43 48 91 18 73
131z BIEH —BB 5 39 39 78 4.8 73.2
14411 ik Ei& 8 41 43 84 10.8 | 73.2
151 ik shE B 47 49 96 228 | 73.2 Z51251,500MH
161t RKH FoH z 48 54 102 28.8 | 73.2
1711 T & 5 40 41 81 7.2 73.8
18fi1 ING PR B 44 42 86 12 74
19f(i1 BN =i 5 41 45 86 12 74
2011 SH ER 8 38 41 79 4.8 74.2 Zl51251,200H
2111 A #— 5 45 40 85 10.8 | 74.2
2211 A F=— 8 48 48 96 216 | 74.4
23fi1 mEgE =FK = 44 44 88 13.2 | 748
2411 EE  EiE C2 43 45 88 13.2 | 74.8
2511 hE —H - 47 47 94 19.2 | 7458 ZI51251,200H
26fi1 HFR E C2 39 42 81 6 75
2711 ErRK HW5E B 42 38 80 4.8 75.2
28fi1 4By #BA 8 39 47 86 10.8 | 75.2
29fi1 =W OEF B 44 48 92 16.8 | 75.2
30fi1 NG IBF z 49 42 91 156 | 75.4 ZI51251,000H
3111 BiE —B =] 44 46 90 144 | 75.6
3211 #wH & B8 52 44 96 204 | 75.6
33fi1 Bl A 5 45 50 95 19.2 | 75.8
3441 w®e A 5 48 53 101 252 | 75.8
35f{i1 B EE 8 47 40 87 10.8 76.2 Z151251,0008




3611 Pul F S L2 43 53 96 19.2 | 76.8
371 TE A- 5 50 51 101 24 77
381 A =E L2 50 51 101 24 77
39111 mE ER 8 45 43 88 10.8 | 77.2
40fi1 h# IESA 5B 49 44 93 156 | 77.4 ZI51251,000MH
4111 WE &b 5 50 48 98 204 | 776
421 Pk =7 z 48 48 96 18 78
43111 =5R &7l B 51 51 102 24 78
4441 KEF FES 5 46 43 89 10.8 | 78.2
45f1 TE &= 5B 46 48 94 15.6 | 78.4 ZI51251,000MH
4641 *F #MF £°g 58 54 112 336 | 784
4711 Rl #F z 56 43 99 20.4 | 78.6
48fi1 E+E =& z 57 53 110 31.2 | 78.8
49111 ik EE 5 50 41 91 12 79
5011 INE EA B 50 53 103 24 79 ZI51251,000H
5111 miE E=:X B 51 52 103 24 79
521 ;AR FIE 8 47 49 96 16.8 | 79.2
53fi1 KH BS B 44 39 83 3.6 79.4
5411 A R 8 57 55 112 324 | 79.6
5511 BBE =5 M3 5B 49 44 93 13.2 | 79.8 ZI51251,500MH
56fi1 RE A 5 54 55 109 252 | 838
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